Analytic Geometry

UNIT 1: Use the following to review for you test. Work the Practice Problems on a separate sheet of paper.

What you need to
Inow & be able to
do

Things to
remember

A. Solve for x when
the angles are

supplementary.

Angles add to 180°

1.

,}\ 2x - 50°

-

Y

2.

One angle is 12 more than twice
its supplement. Find both
angles.

A

r

A

»

B. Solve forx when | Angles add to 90° 3. N 4.
the angles are 2x - 10
complementary. 3x + 10° and 2x ~ 5° are
-complementary.  Solve for x.
x+5
v
C. Recognize and Set vertical angles 5. 6.
solve vertical angles | equal to each other
4x + 12 x+50 2% - 20
100
D. Name and solve Consecutive interior 3.
problems involving angles are
angles formed by 2 | supplementary.
paraliel lines and a Alternate interior, - 5 .
transversal alternate exterior, and 5 4+ 3%
) corresponding angles
are congruent. —t 931 .
9. 10.

v




Analytic Geometry

E. Recognize and
solve midsegment of
a triangle problems

A midsegment
connecting two sides
of a triangle is parallel
to the third side and is
half as long.

E. Recognize and
solve triangle
proportionality
theorem problems

If a line parallel to one
side of a triangle
intersects the other
two sides of the
triangle, then the line
divides these two sides
proportionally.

G.Solve for x in
problems involving
the sum of the interior
angles of a triangle.

The interior angles of
a triangle sum to 180°,

35°

H. Solve forx in
problems involving
the exterior angle
theorem.

The measure of an
exterior angle of a
triangle equals to the
sum of the measwures
of the two remote
interior angles of the
triangle.

I. Recognize and If two sides of a

solve problems triangle are congruent,
involving the then the angles
congruent base opposite those sides
theorem. are congruent.

J. Name

Comresponding Parts

of Tnangles.

K. Determine if two
triangles are
congruent.

Remember the 5
ways that you can
do this: SSS, SAS,
ASA, AAS HL




CCGPS Geometry EQOCT REVIEW 1 = Similarity and Congruence

Name: Date: :
L - "
MULTIPLE CHOQICE PRACTICE

L T
1. Figure AB'C'D'F'is a dilation of figure ABCDF by @ scale facter of Y.

The dilation is centered ai (-4, —1).

¥ .

Al
B/r_" X'D .
v'/‘!\ B T )
Which statement is true2 |
| A8 B'C' b) AB  BC o) AB  BC a) AB  DF
A‘B' BC AIB! B!Ct A!B!‘ DI’FI AIBT B!Cl
2. Which fransformation resuits in a figure that is similar to the original figure but has a greater areas
a) a dilafion of AQRS by a scale factor of 0,25
b) a dikation of AQRS by a scale factor of 0.5
¢] adigation of AQRS by a scale factor of 1
d) adilation of AQRS by a scale factor of 2
3. Inthe coordinate plane, segment PQ is the result of @ diicjﬁion of segment XY by a scale factor of 1/2.
3’L i ¥
s X,
ML)
f 7
£ -—Eiu 3-i0 *
Which point is the center of dilation?
a} {-4, 0} b} {0.-4) c} (0. 4) d) (4.0)

4. in the tianglesshown; AABC is-dilated by a facter of 2/3 o form AXYZ,
Given that mZ4 =50 and m/B =100°, whatisthe m~2Z2

A

™S T

] T

(s z
a) i5° b) 25° c) 30° d} 50°

5. In the friangle shown, GH PDF .

What is the length of EG?
a) 2.0 b} 4.5 ) 7.5 d) 8.0




CCGPS Geometry EOCT REVIEW 1 = Similarity and Congruence

6. Use this friangle to answer the question.

F K
This is a proof of the statement “If a line is parallel to one side of a iangie and intersects the other fwo
sides aft distinct poinis, then it separates these sides inte segments of proportional lengths.”

Which reason justifies step 22 Step Jastification

a) Alfenate interior angles are congruent. i | GZis parallelwo 77 | Given

b} Alternate exderior angles are congruent. T HCK = 2T

¢} Corresponding angles are congruent. | zmG e sum ?

d) Vertical angles are congruent, 3 | AGIK ~ AHIT AA similarity postulate

7. Pardilelogram FGHJ was translated 3 units down to form parollelogram F'G'H'S . Parallelogram F 'G'H'J
"was then rotated 90° counterclockwise about point G' fo obtain parallelogram F"G™H"J ",

Which statement s frue akoutnaralielogram FGHJ and parallelogram F"G"H"1 "¢
a} The figures are both similar and congruent.

P} The figures are neifher similor nor congruent,

c) The figures are similar but not congruent.

d} The figures are congruent but not simitar.

8. Consider the friangles shown.

4 5 =
Which can be used 1o prave the triangles congruente
). 5SS b) ASA c} SAS d) AAS

9. In this diagram., DE=Jlond 4D = £ .

F F

o/

B - F s
Which addilional information.is sufficient 1o prove that ADEF is congruent to AJIHZ

a) EF=IH b) DH = JF c) HG =GI o) HF = JF

10. In this diagram, STU is an Isoscetes triangie where STis congruent to UT. The-paragraph proof shows
that £S'is congruent to LU,

T

A

-"ﬁl '. - . — — 5 4]
Itis given that ST is congruent to UT. praw TV that bisects /T, By the definition of an angle bisecior, /. STV is

congtuent o LTV, By the Reflexive Property, TV Is congrventto TV . VSTV is congruentte VUTTV by sas. £S5 is

congruentto /I by ?

o) CPCTIC  b) Reflexive Property of = c) Def. of Right angles  d) £ Congruence Postulate



Analytic Geometry

UNIT 2: Use the following to review for you test. Work the Practice Problems on a separate sheet of paper.

What yon need
to know & be
able to do

Things to remember

1. Dilate with k = 4.

2. Dilate with k= 2.

ik

‘When the center of dilation ., AT

is the origin, you can i B
A. Perform 2 E‘ﬂtll?llf each coordinate of Bl ] == k] -
dilation witha | ¢ original figure, or pre- S CEEE R RN N

; Al f image, by the scale factor - ot e T 0 X

given scale actor | v, fnd the coordinates of ™ b2~ '

the dilated figure, or 31

image. a . SRS
B. Find the Setupa proportion by 3. 4.
missing side for | matching up the
similar figures. corresponding sides. Then,

solve for x.

E 12.8 o
5. 6.
4 X
X
]
C. Determine if 2 z
triangles are Remember the 3 ways that C
similar, and write | vou can do this; A4, SAS,
the similarity SS8
X Y

statement. 16 cm

A 1 em B




Analytic Geometry

between the ratios
for

cos8 =sin(90 - &)
1

9. Find sin A.
A

10. Find tan B.

D. Find sin, cos, Just find the fraction 19 - :

and tan ratios using SOHCAHTOA 11. Find cos B.
12. Find tan A.

C 14 B
E. Know the 13. Given Right AABC and sin8 = 5/13, find
: sinf =cos(90-8 i - —
relationship n & = cos( ) sin(90 — ) and cos(90 - 0) .

complementary 8= O D
angles. tan(90~0)

s he ratio and th 15. Find m. 43

€t up the ratio and then .

use your caleulator, 14. Find f. L
F. Use trig to find
a missing side If the variable is on the top,
measure multiply. m

If the variable is on the

bottom, divide.

17.Find s.
16. Find p. 32

G. Use trig to Set up the ratio and then °
find a missing use the 2nd button on your i3
angle measure calculafer, 40 17

Unit 2 — Right Triangle Triconometry

STANDARD: TRIGONOMETRIC RATIOS

* Trig Ratios —
. o A
SlnB-; CosB-;I- Tan @ =

8 =]

Inverse Trig Ratios — Only used when

finding the angle measure of a right

i i a Y
ma“_g'e' sing == ——a G = gip~tZ
H H

A o

g=-= = ~1¥

cos H—-—-—-———br ? = cos P

@ 40




Analytic Geometry

43. What does it mean for two angles to be

complementary?

44. Angle J and angle K are complementary

angles in a right triangle. The value of
tan/ is 2. What is the value of sinJ?

45, Triangle RST is a right triangle with
right angle S, as shown. What is the
area of triangle RST?

R

Gin,

49. Inright triangle ABC,if LA and ZB
are the acute angles, and sin B = %,
what is cos A7

50. Find the measure of angle x. Round
your answer to the nearest degree.

20
i3

51. Solve for x.

240
12

. 1 \
. You are given thattan B = 1—:. What is

the measure of angle B?

46. A road ascends a hill at an angle of 6°,
For every 120 feet of road, how many
feet does the road ascend?

47. Given triangle ABC, what is sin A?

(%]
LAl

. Aladder is leaning against a house so
that the top of the ladder is 18 feet
above the ground. The angle with the
ground is 47°. How far is the base of
the ladder from the house?

Unit 3 — Circles and Spheres

A
10

6

¢ 8

48. In a right triangle, ifcos A = -193, what is
Sin A?

STANDARD: CIRCLES
s Area—7r?
¢ Circumference — 2nr

+ Parts of a Circle -




CCGPS Geometry EOCT REVIEW 2 — Right Tniangle Trig
Name: _ Date:

MULTIPLE CHOICE PRACTICE

1) Inright friongie ABC, angle A and-angte B are complementary angles. The value-of cos A is 5/13.
What is the value of sin B2

a) 5/13 b} 12/13 c) 13/12 d)13/5

- 2) Triangle ABC is given below.

B 12m c
what is the value of cos A2
a) 3/5 b)3/4 c) 4/5 d) 5/3
3} Innght friangle HIK, £J is aright triangle and tan LH =1, Which statement about friangle HIJK must
be frue?
a)sin/ZH =1/2 b)sinLH =1 c)sinLH =cos LH disin LH =1/ cos LH

4) A 127oot ladder is ieaning against a building at a 75° angle with the ground.

Which can be used to find how high the Jadder reaches up the side of the building?

a) sin?'S“:2 b) tan75°=1—2 124 .
X X f

c) cos75° = d} sin75° = -
12 12

3} A hot air balloon is 1200 feet above the ground. The angle of depression from the basket of the hot-
air balloon to the base of g monument is 54°,

Which equation can be used to find the distance, d, in feet, from the basket of the hotair balloon io
the base of the monumeni?

Q) sin54°= 4 b} sin 54° = 1200 c) cos54° = _a_ d) cos54° = 1200
1200 d 1200




CCGPS Geometry EOCT REVIEW 2 — Right Triangle Trig

4) Quadrilateral LMIP Is an isosceles frapezoid.

M 5 T
JI3
45° 45%
L P
What is the length of LP 2
a) 10 b) 11 c) 5+218 d) 5+6v2

7) Bianca uses an angle-measuring device on a 3-oot ripod to find the height, h, of a weather balloon
above ground level, as shown in this diagram.

\ Weather

ballacn
&
Tripod
a/ay
3 fi.
D
Ground level

not deawn Lo scale
The balloon is at a 40° angle: of elevation. A radio signal from the balloon fells Bianca that the
distance between the tipod and the balloon is 25,000 feet.

which expression represents the height, h, of the bailoon above ground level?

a) 25,000 es5m40°-3 b} 25,000 estn40°+3
Q) 2_5, 000 _3 ) 2?, 000 +3
sin 40° sim 40°

8) Use this diagram of a cone to answer the question.

The base of the cone has a radius of 6 cm. Which expression represents the slant height, in
centimeters, of the cone?

a} 6ecosT0° b} Gecos110° o 0 a5 _
cos 70° cosi10°®




CCGPS Geometry EOQOCT REVIEW 3~ Circles and Volume

Name: Dafte:

Free Response;
1} «PNQis inscribed in circle O and m}{é= 70°,
P

Q

N
a} What is the measure of ZPOQ 2

b} What is the measure of «PNQ 2

2} In circle P below, 4Bis a diameter.

tm24PC =100°, find the following:
a) msZBPC
b) msB4C
c) mBC

d). mAC

3) Incircle P below, DGis a tangen}. AF =8, EF = é, BF = 4, and EG =8,

A

7

n

-‘Find CF and DG.

4} in this-circle, 4Bis tangenito the circle at point B, 4Cis tangent fo the circle at point
C. and point DHies on the circle. What ismzB4AC?
A .

5) Circle Ais shown. - If x = 50°, what is the area of the sector?




CCGPS Geometry EOCT REVIEW 3 —Circles and Volume I

6) What is the volume of the cone shown below?

7} A sphere has aradius of 3 feet. What is the volume?

8) A cylinder has a radius of 10 cm and a height of ¢ cm. A cone has a radius of 10 cm.
and a height of ¢ cm. Show that the volume of the cylinder is three times the volume
of the cone.

Muitiple Choice: '
9} Guadrilateral WXYZ is inscribed in this circle.

Which statement must be true?
al £ZWand LY are complemeniary.
b} «W and Y are supplementary.

c) <ZZand Y are complementary.

d} «Z7Zand zY are supplemeniary.

10)Points A, B, D and E lie on the circle.
Point C is outside the circle.
AE=DE, mBD =56 8_msEAC =84
wWhat is the measure-of LACE 2
a) 28> b} 42°
c} 56° d) 84°

. o

11} A circular pizza with a diameter of 15 inches is cut into 8 equal slices. What is the
areq of one slicee

a) 5.9sq.in.
b) 22.1sq.in. -
c) 88.4sqg.in.
d) 120sq.in.

1]



Analytic Geometry

58. If two tangents of OX meet

s  Properties of Tangent Lines — at the external point Z, find 2

o Tangent and a radius form a their congruent length. 6x+3
right angle

o You can use Pythagorean 37 -2
Theorem to find the side
lengths

o Two tangents from a common
external point are congruent 59. The measure of D is 64°. What is the

e Central Angles —mAngle = mArc measure of LBDC?
* Inscribed Angles — mAngle = m‘:“ A 5
* Angles Qutside the Circle —

far arc —near arc

2
e [ntersecting Chords -

arc A + arc B this circle. AB = BC and A
angle x = - 3 mAB = 108°, What is :
. the measure of <ABC?
54. What is the value of x in this diagram? * ‘

61. In this diagram, segment QT is tangent
to circle P at point
T. The measure of

angle x =
60. Isosceles triangle ABC is inscribed in

minor arc ST is

_ , o 70° What is
55. Given QT, with the inscribed TOP?
quadrilateral, find the value of each m<TQPs
variable,
S6. AB is tangent to ©OC at point B. AC STANDARD: SPHERES

measures 12 inches and AB measures 7

. - - ot 5
inches. What is the radius of the cigcle? 5 | . s Surface Area - 47r?

1z 4
*  Volume- 5117'3

57. Given OQ, the mABC = 54° and the 62. A sphere has a radius of 8 cm. What is

m.2AQC = (2x + 6)° find the value of the surface area? Answer in both
X. decimal and exact ®-form.

e 12




Analytic Geometry

63. When comparing two
different sized bouncy balls,
by how much maore is the
volume of the larger ball if
its radius is 3 times larger
than the smaller ball?

64. Find the volume of the following
figures.

¥ A o P B e .
T ey

e 3 :

¥2



Analyfic Geometry
Unit 4 Key Nofes:

Combine like ferms when adding and
sublraciing polynomials

Use the dislribulive properly when muifiplying
polynomials

Perimeter; Add up all the sides

Area: length*width

Volume: Bh (remember B=area of the base)

Imaginary Numbers: i x i = -1,
then -1 xi=4,

then-xj=1,

then 1 xi=1i (back to i againl)

V-1 2=-1 Bzl =1 =4

The complex conjugate of a + bi is a - bi, and
similarly the complex conjugate of o~ bi isa
+ bi. This consists of changing the sign of the
imaginary part of a gcomplex numkber. The real
part is left unchanged. '
Irational Numbers: _

Can't be expressed as the quotient of two
integers {i.e. a fraction) such that the
denominator is not zero.

Examples: \/'? P \/g A

Rational Numbers:

Can be expressed os the quotient of two integers [i.e.
a fraction) with a denominator that is not zero.

Many people are surprised to know that a repeating

decimal is a rational nomber.

Examples: -5, 0, 7, 3/2, 0.26

\@ Is rafional - you can simplify the square
roof to 3 which is the quotient of the integers 3

and 1.
hwsl':gsf:_'ik;'}onents _
L Multplication BB wpe 24d exponents
1 Il Powecofapower  {(¥=b" '
. - N L : P " - B .
-TIL, Fower of a product, {.bf} ==b"(." “m ‘:Jlﬁ-Pi}_{-eXPQtienlij
e e Cpaand Tan .
" | TV Power of a fraction (%)-—--;7
BT .bvq s
o, altewatively, .} - $ubiract exponents
| :
g ]

Unit 4 Test Review

Add or Subtract:

1.

(5x% 8% — 6} +{7x* ~9x - 3)

2. (3)(2 +5x—9)—(6x2 +5x—1 1)

Mulliply:
3. 7x2 (%(y3 —87'v + 4y3)

4. (x-4)

5. {(x-6)(x+7)

6. (x-2)(x"—4x+6)

7. Give the perimeter of the deck shown below.

2X+4

)& /3
10

s



Analytic Geomeiry

8. Find the area of the figures
a) b)

x+2

4x+2 ' I%+6

9. Find the area of the white space.

{x+3)
10. Find the volume of the rectangular prism.

x+3 )
= X +1
Review:
11. Find the volume of each figure below.

a} | b} c}

B 2 om.

15






